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low. I'm freezing.
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@ We have T Moy souvenirs.

Too

=" @) Yes, and | think there is sugarin it.
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() Yes, butl don't think Il have 10

@ We haven't got T U ( :(L money for the expedition.

@ T 0O ™M A lAcars and

to win the contest.

® Thisvideodipisgood -1 L 1

TCQ old.

@ The electrical system in your house is

(-) Do we have T@& ”\‘JQ)\ salmon for everybody?

to say that.

() You don't know him well

@ Yes, but she talks

) somethlng is sufficient,

IComplete the sentences with “too” , “enough” , “too many" or “too

g
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@ Why couldn’t he drink the coffee?

1-'

+ & s ] smoke from factories.

5 B Answer the questions using “enough”,

,‘;,\_‘!.\4. L ¢ ™ "J‘.s y
fid

whY C()uld "Ic.@)h 5

@ Why can't you buy a Ferrari?
\

1 i

ié’q"w/ t& Eanede (10 bu%”‘ '

"‘ @ Why can’t Sue lift 100 kilos?

\A\vy\-w

Bl Co Or‘)V A Ilf‘-&»
‘@) Why couldn't Sam reach the cupboard?

f

Wby cou,

C7Q f"qa-ﬁy(‘._ "

P Why couldn'e she put on the dress?
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